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4 6.03 6.00 5.95 5.96 5.88 5.74 6.06 5.81 5.76 5.82
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6 5.58 5.73 5.81 5.57 5.93 5.96 6.04 6.09 6.01 6.04
7 6.11 5.82 6.26 5.54 6.26 6.01 5.98 5.85 6.06 6.01
8 5.86 5.88 5.97 5.99 5.84 6.03 5.91 5.95 5.82 5.88
9 5.85 6.32 5.92 5.98 5.90 5.94 6.00 6.20 6.14 6.07
10 6.08 5.86 5.96 5.53 6.24 6.19 6.21 6.43 6.05 5.97
- (D 50 100 , 100
(2)
Xnax = 6.43
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(3) Kk h
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, k k
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50 50 100 100 250 250
5 7 6 11 7 15 10 30
k=11, h=0.910=0.09
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1 S——
3, (G- Xy
S= n-1
T—
S=0.180%, 6% 6.5%, T.=55%, T,=6.5% T=
To- TL=120%
Co=¥ (6% 0.180) =0.926< 1
5_6, 7
5-6
CP
Cp>1 33 Cp 1 33,
Cp=1 33
1< Cp<Ll 33 Cp 1
0.67< Cp<1

64



Cp<Q 67

C'p: K' Cp
K: :1_.IM (5—28)
T 2
K' —— ;
M— ,M:?T+ T, M =(0.5+5.5) % =6.0%;
X—— ;
1CP
C,= K C,=0.83<1
4
(
);
X S; P 5-15
P=P,+ P, (5-29)
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Ds Ds , 5-7 , n< 6 , Ds ,
R . LCL . n< 6 Ds
A, D4 Ds 5-7
A, D, Dy A, D, Ds
n n
2 1 86 327 — 7 Q 42 1 92 0. 08
3 1 02 2. 57 — 8 Q 37 1 86 0. 14
4 Q73 2 28 — 9 Q 34 1 82 0. 18
5 Q 58 211 — 10 Q 31 178 0. 22
6 Q 48 2. 00 _
) , CL,
UCL LCL Xi Ri T ,
, b1} 0”
3
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25 ;
35 ;
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5-8, X -
(D) 5-8 5-8
5-8
i X1 X2 X3 —X(i) Ray
3 1 34. 5 36. 5 38 7 36 6 4 2
4 2 38 5 41 9 43. 5 41 3 50
5 3 38 9 39. 6 43 7 4Q 7 4 8
6 4 36. 5 37. 5 38. 4 375 19
7 5 35 6 37. 7 47. 7 4Q 3 12 1
8 6 36. 6 38 7 39. 8 38 4 32
9 7 39. 0 39. 2 43. 7 4Q 6 4 7
10 8 33 6 37. 8 40. 1 37 2 65
11 9 327 37. 2 41 4 371 8 7
12 10 36. 0 37. 2 41 7 383 57
13 11 36. 5 40. 5 40. 8 39 3 4 3
14 12 42. 9 43. 8 46. 8 44 5 39
15 13 35 4 36. 9 39. 3 37 2 39
16 14 39. 9 39. 9 44. 3 41 4 4 4
17 15 40. 8 42. 3 42. 3 41 8 15
18 16 42. 0 43. 8 44. 1 43 3 21
19 17 40. 2 41 9 42. 9 41 7 27
20 18 353 381 40. 2 379 49
21 19 38 4 38 7 41 7 39 6 33
22 20 42. 6 43. 5 48. 6 44 9 60
23 21 37. 8 39. 4 43. 5 4Q 2 87
24 22 36. 9 38 4 42. 8 39 4 59
879. 2 105. 4
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X =40.0 R=4.8
Xz%x (34.5+36.6+38.7) =36.6 N mm’
2) , 5-8
)
n=3 ( N ), A, =1.02, Ds=2.57, Ds .
X
—_— 122 2
CL = X:_Kizl X =40.0N mm
UCL = X+ A, R
=40.0+1.02x 4.8=44.9N mnm’
LCL=40.0-1.02x 4.8=35.1N mm°’
R
—_— 122 2
CL= R:_KiZ1 R(i)=4.8N/mm
UCL= DsR=2.57% 4.8=12.3N mm>
4) , ( ), Xiy R X - R
X - R
®) Xaé  Ra X-R , ,
(6) X - R 5-22
5-22 X-R
X- R ) 3
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)
()

®3)

5-23

5-23

71




5-24 . 5-24
©)
5-24(b) , , )
5 —24(8.) 7
5-24
a) , , ;b)
a) , c) ;C)
7 ’ 5 _24(0)
5-24(3a) .
3
1)
; JTJ268 - 96

72



, GBJ107

100 , 300
, GBJ107 10 ;JTJ269 - 96
5 100 )
1000 500
(2)
5—24(61) 7 i
J : ;
( ) ,
, 5-25
—n —L 1 1T ]
A
O
n As (T[]
O
A3
= s —L LT ]
5-25
1000 m , , 20 50
( ) .
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®3)

(4)

0,1,2,..
LCP)

- Po

74

LCp) = pot prtpat....=3

D,

(N,n,o0,
cC, N

0

(7o
d>c,

(N,n,c)

» P15, P2
Pc= I N,

i=0



1)
Ch % Cb
dy=—" .
p(d) o
@) N .o N (Y N< 0.10),
p(d) = Chp’qg" "
3) n , n<s N 10 p< 0.10 ,
A
p(d)=";¢"
A = np, )
(1) d d
¢ Cp.Ch-%
L(p)= 5 ———
(p)= 3. o
)
L(p)=Y Cop'q""
)
(=3 e
P)=2,Coy
XminZ XL, XL,
, (1 ¢)
5-13 1000 50 ( 5%),
100, c=4) ,
: ,Nn=100,c=4,p=5%
L(p) =2 P(d)
1)
Ci-% C5
P@)="
(a) -
Pa-0 = 0.005 Pa-1=0.026 Pa-2=0.075
Pq:3:0.138 Pq:4:0-184
L(P):O.428
) :
Po=(1-p)' °=(1-0.05"=0.006
P, = np(1-p)" ' =0.031
_ n-d P 100-1_ _0.05 _
Po= Pix "o X T p=0.031x TRt TR = 0,081
P: =0.139 Ps =0.177
4
L(p) 220 P(d) =0.434
)

Po=e " =0.0067

(5-34)

(5-35)

(5-36)

(5-37)

(5-38)

(5-39)

(n=
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P, = P, ﬂlp =0.0335

P, = P, ﬂz"-’ = 0.0837

Ps =0.1397 P, =0.1746
L¢ry :dz:o P(d) =0.438

3.
, 0C ,
0C
5-14 , (1000,30,1) ,
0C
N =1000, n =30, c=1
p=0.01, A=np=30x0.01=0.3
1 d
_¢ 0.3) -0
L(0-01)—dZ:0 g1 e
p=0.02 ,\x=0.6,L1(0.02)=0.8781; 5-9
(1000,30,1) 5-9
p 0.01 0.02 0.04 0.06 0.08 0.10 0.12
L(p) 0.963 0.878 0.663 0.463 0.308 0.199 0.126
5-9 . 0C ( 5-26
’ OC 7
0C
, N , , 0C
5-27
5-27 s N C i n
) n )
n : L(p)
b n b
C , 0C 5-28
5_28 y N n 7
C , C )
c : L(p)
’ 0C

76



5-27

4.
, N =200, p=0.5%, 200
(200,10,0) 10 )
d>c(c=0), 190
113 GH
a=1-L(p)=1-3p  (p=po)
- Po a
pO ’ l -O(
a=5% 1%, Po , 5% 99%
. ) L(p) =0.
10 ; )
[13 BH
B=pn (p=m)
I B , “
pr 1-B
1%, P1 90% ,95% 99 %
G, pZ pl ’
. (N,n,o0)
(5-40) (5-41) , n ¢
207 /
=0.08,a =0.05,3 =0.10,
5-10
@) p/ po=0.090.01=8 5-10 P/ Po
(2) c=2 npo =0.818
3) npo = 0.818 n= 82
n , n
(4)c=2 np: =5.322, n= 67

5-28
’ d:]-,
(5-40)
20% ,
107 100 s
(5-41)
B=10%,5%
P< Po
B
afpB po p1,
po=0.01,p1
6.50%, c=2
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78

n ., (87 2), a=0.05
0.10 (67 2) 0.05 ,
B =0.10 , (8% 2)
5-10
c NP, np; P/ Po c np, np; P/ Po
0 0.051 2.303 44.890 16 10.831 22.452 2.073
1 0.355 3.890 10.946 17 11.633 23.606 2.029
2 0.818 5.322 6.509 18 12.442 24.756 1.990
3 1.366 6.681 4.890 19 13.254 25.902 1.954
4 1.970 7.994 4.057 20 14.072 27.045 1.922
5 2.613 9.275 3.549 21 14.894 28.184 1.892
6 3.286 10.532 3.206 22 15.719 29.320 1.865
7 3.981 11.771 2.957 23 16.548 30.453 1.840
8 4.695 12.995 2.768 24 17.382 31.584 1.317
9 5.426 14.206 2.618 25 18.218 32.711 1.795
10 6.169 15.407 2.497 30 22.444 38.315 1.707
11 6.924 16.598 2.397 35 26.731 43.872 1.611
12 7.690 17.782 2.312 40 31.066 49.390 1.590
13 8.464 18.598 2.240 45 35.440 54.878 1.548
14 9.246 20.128 2.177 50 39.849 60.339 1.515
15 10.035 21.292 2.122
( ) . XL
XL , , , XL ’
N(u,0),
_ B 2
X NCX, D)
n
: o o
1.
: Xn mo ; m1



Xn
M,
a B
Mo,0, My,
¢y
Xn Mo
’ My,
mi
a B 5-29
X= mo- Goo , (
X < mp + Kg-i ,
n
n
Ke + K
n=(———)¢’
Mo — M1
Ka
Go=
n
(0] ,» Mo, M1 . a B ’

a=0.05, Ko =1.645,=0.10, Kz =1.282
2)
, G n

X> mo+ GoO

X< mo+ GoO

, 0C

> M1
5-29
b = mo)
b= m)

Ka, KB

(5-42)

(5-43)
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S , )
n
n 7 b
X-kS=> X (5-44)
K .
X N(u,0%), n :
(X - kS) 00
> 1 K
N (M- lo),0 n+2(n—1) , 5-30
X - kS= X., . : L(P)
L(p) = P( X - kS= X.) (5-45)
(1) ,
) n (k , N o B ), K
n )
) ) )
K
, N 1+ 9
4) . ,
1.
G BJ107 ; ,
Meu> Teuk +0.700 (5-46-1)
fcu,min2 fcu,k '0-700 (5—46—2)
c20 ,
fcu,minZ 0-85fcu,k (5—47)
c20 ,
fcu,minZ O-gofcu,k (5—48)
Mty (N/ mmz);
fcu,min (N/ m mz);

80



Oo (M mn?),
(
_0.59
== T (5-49)
fcu,i i ,
m— :
15
5-15 C30 . 17 (51 )
( fcu,i) 5_11 00,
fo i (V mm?) 5-11
1 2 3 4 5 6 7 8 9
feu,i 2.5 6.0 3.0 4.7 6.0 7.0 5.5 10.0 4.8
10 11 12 13 14 15 16 17
foui 2.0 5.0 8.0 5.0 4.5 12.0 7.0 6.0
- (D (5-55) Oo
_0.59¢
= m Toui (5_50)
=%(2.5+6.0+3.0+ ... *+7.0+6.0)
=0.59% 5.8=3.42(NV mm’)
(2) M feu fcu,min :
Mee = Fou, K+0.700=30+0.7x 3.42
=32.4(\ mn?)
fou,nin = fou, k-0.700=30-0.7%x 3.42=27.6(N mm?)
fo,nin =0.9Fcu, k=0.9x 30=27.0(N mm?)
fcu,min =27.6N m m2
3) 5-11 5-12 5-12
5-12
1 2 3 4 5 6 7 8 9
37.6 38.8 38.3 28.9 38.3 34.2 37.2 37.3 26.5*
1:cu,i
33.4 34.8 38.9 35.2 33.1 29.5 27.4* 40.1 37.2
( v mm?)
37.9 33.9 35.0 32.2 36.7 40.1 38.3 30.0 32.0
36.3 35.8 37.4 32.1%* 36.0 34.6 34.3 35.8 31.9
M fey
2
GBJ107
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Mfeu - Alsfcuz 0-9fcu,k (5—51—1)
fcu,minZ )\2 fcu,k (5—51—2)
mfcu ’
(VW mn®);
Sreu 0.06 fcu,k ’ Scu =0.06 fcu,k

n
S fou.i- nmf
= Ccu

Sou = — (5-52)
:fcu,i i ]
n——
5-13
10 14 15 24 > 25
Al 1.70 1.65 1.6
A2 0.90 0.85
(5-55-1)  (5-55-2) ,
’ (_Als:CU) P (O-gfcu,k +)\13fcu),
’ Scu 0-06fcu,k ’ Seu = 0-06fcu,k
’ ) M fcu
fcu,k
JTJ269 - 96 : n
5 , )
M = S Touk (5 —53-1)
fcu,minZ fcu,k - ©p (5—53—2)
(5-57-1) , (5-57-2)
o P (NV mm?);
o (N mmn®), 5-14 :
M feu n (V mm?);
Stcu n (N m mz);
Teu, min n (N/ m mz);
c— , 5-15

82



n Stcu (5-52) , Oo - 2.0(N
2
mm-), Stcu
@) 5-14
< €20 C20 C40 > C40
o,( N mm?) 3.5 4.5 5.5
o 5-15
n 59 10 19 > 20
c 0.7 0.9 1.0
5-16 C30 , 27 28 d
(W mn®)
i 1 2 3 4 5 6 7 8 9
fcu,i 33.8 40.3 39.7 29.5 31.6 32.4 32.1 31.8 30.1
i 10 11 12 13 14 15 16 17 18
foui 37.9 36.7 30.4 32.0 29.5 30.4 31.2 34.2 36.7
i 19 20 21 22 23 24 25 26 27
i 41.9 36.9 31.4 30.7 31.4 30.5 30.7 30.9 32.1
@D) G BJ107
12 _
Mfcu = nizl fCU,I
=1/ 27(33.8+40.3+..... +30.9+32.1)
=33.2N mm’
2 2 2
S, = 33.8 + . .. .. +32.1 -27%x 33.2 _3 .55 N/ mm?
27 - 1
Mfcu fcu,min -
27, 5-13 A1=1.6(n=27>25),A>.=0.85 (n=27>15)

Miew =0.9Fu k +A1Seu=0.9%x 30+1.6x 3.55=32.7 v/ mm?
founin A2 Fuk=0.85x 30=25.5 / mm”®

Meew = 33.2> M =32.7N mm?

feu,nin=29.5> Teu, min =25.5N mm2
C30

(2) JTI269 - 96

Miw =33.2NV mm?, fu =30 mm?

S =3.55N mm?,
83



(5-53-1):  Mfw - S Teux

33.2 -3.55=29.65< 30

(5-53-2): fu,min= ok - ©o
n=20, 5-15,c¢c=1.0

C30, 5-14 0o=4.5N mm’
fux- ©o=30-1.0x 4.5=25.5

fcu,min:29.5>25.5 (5—53—2)

JTI69-96  (5-53-1) ,(5-53-2)

JTJ269 - 96
, 28
, 5-31(a) 5-31(b)
X Y T S )

5-31(a)
. 5-31(b)
5-31 Y= f(x) S=g(b)

84
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y X )
y=a +Bx+e (5-54)
(5-54) y X a B
£ N(0,0°) , X y
X Y N(a +Bx,07)
X, Y, n
X1y X2guuuonaay Xn
Vi, VY2, ... » Yn
Ve =0 +BX +Ex (k=1,2, , N)
2.
a B, , y X
y=a+ bx y=a +Bx ,a,Db a,pB a, b
S(i-W =3 (V- a- bx)
, a,b ,
a=vy- bx (5-55)
S (- 00-Y)
b= - - (5-56)
3 (- x)
y=a+ bx , (X, ¥), :
L= 3 (- %) =3¢ - (3 0 (5-57)
n _ _ n 1 n n
Ly =2 (Xi= X)(Vi- ¥) =3 Xi¥i-" 5 X3 Vi (5-58)
b
b= Lx/ Lxx (5_59)
Lxx X ] ny X y
3.
: IX Y ? B
,B=0 Bz 0
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r:iznl(xi— X)(Yi - yY ian(X" _X)Zian(Yi- y)’

r= Lo/ L Ly (5-60)
DLy y
" ) " ;
Ly =3 (Y- =3 % - (L yw7n (5-61)
r :
Dr .
Jrls 1
@) x vy il
=0, 5-32c,d
3) , X
y rl =1, 5-32a,
f ;
@ x vy
0<|r]< 1, 5-32b, e
T X
y | r] 1, 5-32
X Y , 1 ? o
0.05 0.01) f=n-2, ( 5-16) o,
Irl 1o,
5-16
a a
r 0.05 0.01 r 0.05 0.01 ] 0.05 0.01
f f f
1 0.997 1.000 15 0.482 0.606 29 0.355 0.456
2 0.950 0.990 16 0.468 0.590 30 0.349 0.449
3 0.878 0.959 17 0.456 0.575 35 0.325 0.418
4 0.811 0.917 18 0.444 0.561 40 0.304 0.393
5 0.754 0.874 19 0.433 0.549 45 0.288 0.372
6 0.707 0.834 20 0.423 0.537 50 0.273 0.354
7 0.666 0.798 21 0.413 0.526 60 0.250 0.325
8 0.632 0.765 22 0.404 0.515 70 0.232 0.302
9 0.602 0.735 23 0.396 0.505 80 0.217 0.283
10 0.576 0.708 24 0.388 0.496 90 0.205 0.267
11 0.553 0.684 25 0.381 0.487 100 0.195 0.254
12 0.532 0.661 26 0.374 0.478 150 0.159 0.208
13 0.514 0.641 27 0.367 0.470 200 0.138 0.181
14 0.497 0.623 28 0.361 0.463 300 0.113 0.148
Irl> n X 'y Al > rows
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il rl > roon, ;o lrls o . y X

X Yy )
’ r
y ) ) )
. | rl ) Al
10,
| r] >0.95
|r] =0.9 0.95
|r|=0.8 0.9
| r] <0.80
4
. X oy , X
. y (y). Yis
( ),
Oi=Vi- Yy (5-62)
$=55%=3 (yi- v (5-63)
&
( ) Sk = o (5-64)
‘. Lyry] = L;y b (5-65)
2
Sy (1;] r_)ZL” (5-66)
Sk X .Y .
5.
. a ., . X
y (L-a)x 100%
y= a+ bx, y
Xo, Yo Yo
Yo = a+ bxo

Yo=0 +[BXo t€o

a,b , , €o , Yo Yo

87



Yo = VYo

T =

Sk 1+¥ n+ (% - X)7 L

(5-67)

f=n-2 T n , X n i T
, t/2, Yo Yo - /2
Sk, Yo+ &/2 Sk
yi = (a+ bx) - /2 Sk
y» =(a+ bx) + &2 Sk
’ y ) (L-a)x 100 %
5-33
5-33
Xo , Yo , Sk
Sk , Yo ,
s Y1 <Y<Y X ; X1
X2, y Yo,
a =0.05, n , Fo oo, 4  t/2=tHoy2=1.96
, 2 1.96 y (1-a)=95% (a+ bxi - 2SSk, a+ bxe
+2 Sk) , X 5-33
: yi = a-2 Sk + bxg
y2 = a+2 Sk + bxe
X1 X2 b>0 , (X1, X2);b<0 , (X2, X1)
, Yo - Y1 >4Sx
6.
5-17 28 ( R28) (W ©)
8 5-17
5-17
i 1 2 3 4 5 6 7 8
W/ c 0.40 0.45 0.50 0.55 0.60 0.65 0.70 0.75
(M Pa) 36.3 35.3 28.2 24.0 23.0 20.6 18.4 15.0
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: (1) R28 O W :

(2) ;
(3) W C=0.60 |,
2 (D 5-18

k:ianizl.sls

-yzinZyi:2.51

Y n(C %)’ =26.307 ¥ n(S i)’ =5040.1
Y ny x> vi=364.13

La=S X =¥ n(S %)°=27.457 -26.307=1.15
Ly =S V¢ -¥ n(3 yi)? =5452.2 -5040.1 = 412.1
Ly =3 %Vi-¥ nY XY Vi=385.53 -264.13 =21.4

b= Lo/ L =21.41.150 = 18.6

a=y-bx=25.1-18.6x 1.813= -8.6
R28=18.6(¢ W) -8.6

5-18
X ¥é % Yi
W/ C o w MPa

1 0. 40 2 500 36. 3 6. 250 1318 9Q 75
2 0. 45 2 222 35. 3 4. 937 1246 78 44
3 0. 50 2 000 28. 2 4. 000 795. 2 56 40
4 0. 55 1 818 24. 0 3. 306 576 43 63
5 0. 60 1 667 23. 0 2779 529 38 34
6 0. 65 1 538 20. 6 2. 366 424. 4 31 68
7 0. 70 1429 18. 4 2. 042 338. 6 26 29
8 0. 75 1 333 15. 0 L 777 225 2Q 00
S 14.507 200.8 27.457 5452 .2 385.53

x =1.813 y=25.1

2)
L xy 21.4
r= = =0.983
,f:8-2:6, No.os =0.707, roor =0.834 r=0.983> rg.01 =0.
834, ( R28) (7 W) ,

L, (1- ¢ _ 2
3) S, = yyn(_z): 412.1x (4 0.982):1_52Mpa, o =0. 05,

8 - 2
,  t/2=1.96, t,2 S« =1.96x 1.52=3.0M Pa
W C=0.60, & W=1.667, R28 = 18.6x
1.667 - 8.6=22.4 M Pa, [22.4 -3.0,22.4+3.0], [19.4,25.4]
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95 % : ¢ W=0.60 28

1.
1)
X
Y= a+ bx
5-34
1 b
- a+t
y X
(¥ x,Y vy
(2)
y = CX
5-35
5-34 y=x (a+ bx)
logy =logc + blog x ,
y = a+ bx
R R
R = CR’
3)
y: Cebx
5-36
Iny=Inc+ bx, VY =Inhy,a=lInc,
4)
y= a+ blogx
5-37

90

y =Vy, X =V x,

19.4 25.4 MPa

(5-68)

(5-69)
y =a+bX,

(5-70)

5-35

y =logy , X =log x, a=logc,

(5-71)

y = a+ bx,

(5-72)



X =logXx,

y=a+ bx,

W =a+ blog D

91



5-36

®)

Iny=Ina+ ¥ x

y =a + bx

5-38 y= a’”*

Y y=a+be "
In(¥ y- a)=Inb- x
y =In(¥ y-a), B =Inb
y =0 - X

£ Y-y

R°= 1-

Ly 5 (yi- y)?

5-37
(5-73)
(5-74)
2739 = a+1be‘X
r
Yi
(5-75)



Sk

S (i- )
Sk = S (5-76)
2
Vi R S« , S
K , R
n (Xi, i)
3.
425
0.55, 28 :
ZOi 3 ’ 11 9 5' 5-40
19, 5-40
5-19
(d) 7 28 60 90 130 365
0.54 1.00 1.19 1.30 1.38 1.48
2 (D)
X y Yy=a+Wx, y=Vy,Xx=VXx, y=a+t
bx , ab ,
’ 5_20
5-20
X y X y X 2 y 2 X'y
7 0.54 0.1429 1.8518 0.0204 .4292 0.2646
28 1.00 0.0357 1.0000 0.0013 .0000 0.0357
60 1.19 0.0167 0.3403 0.0003 . 7061 0.01403
90 1.30 0.0111 0.7692 0.0001 .5917 0.00854
130 1.38 0.0056 0.7246 0.00003 .5250 0.00406
365 1.46 0.0027 0.6849 0.000007 .4691 0.00138
0.2147 5.8708 0.022137 .7211 0.3273
S X =0.2147 Sy =5.8708 n=6
X =0.03578 y =0.97848 Y Xy =0.3278
X’ =0.022137 y yi=6.7211 G X)) Y)=1.260461

(> X)?*=0.046096

(S y)?=34.466298
LXX =5 x°-(3 X )7 n=0.022137 - 0.04609¢/ 6 = 0.0145

93



LYy =S vy -(3 ¥)7 n=6.7211-34.66299 6=0.9767
LXY =5 XYy - (3 X)(S yY n=0.1178

b= LxXy/ LXX =0.117% 0.0145 =8.124
a=y - bx =0.97848 -8.124% 0.03578 =0.688

y =0.688 +8.124 %

Y y=0.688 +8.124 X

94

(2)
5-21
5-21
x y y: y 3=y-y 5°
7 0.54 0.2916 0.54 0 0.0000
28 1.00 1.0000 1.02 -0.02 0.0004
60 1.19 1.4161 1.21 -0.02 0.0004
90 1.30 1.6900 1.29 0.01 0.0001
180 1.38 1.9044 1.37 0.01 0.0001
365 1.46 2.1316 1.42 0.04 0.0016
> 6.87 8.4337 6.85 0.0026
5-21 ,
$*=3 8° =0.0026
f=n-2=6-2=4
S«= S7(n-2)=0.0255
o =0.05, f=4, 4  t,=2.776
t/2 S =0.0708
5 % , ¥/ y=0.688 +8.124 x + 0.071
R®=1- S7 Lyy
Ly =X (- =3 % - wW7/n
=8.4337-6.8776 =0.5676
R®=1-0.002¢/ 0.5676 =0.995, R’ 1,
5-40 , 5-34 5-39 ,
y=a+ blnx
y= ox’
y: CEb/X
’ SK
, S« R%, , S«
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1959

1981

¢y
(2)
®3)
4)
®)
(6)

96

7

6

14

1990

25

1960

1984

2

27

1] SIH



Sl 7 6-1
Sl 2 6-2
SI
6-1 6-2
o (m), (kg)  (s)
(m), (ka) (9 (A)
(m), (kg)  (s) (K)
(m), (s) (cd)
(m), (kg)  (s) (K)
6-1
( ) kg
A
K
mol
cd
6-2
rad
SI Sl
Sl
1) sl Sl
SI SI 6-3:
2) SI ( 6-4)
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Sl S 6-3
Sl
2
m3
ws
kg m3
mY kg
6-4
Hz g-1
; N kg. n/ s?
Pa VAE
; J N.m
; W Js
C A.s
\ W/ A
F Vv
Q V/ A
S NV
Wb V.s
T W m?
H WE A
Im cd.sr
Ix IV m?
Bg st
Gy J kg
Sv J kg

Si

98

19



NH

S1

3) Sl
Sl s ’
) Sl Sl
, , rad s
3
16 , Sl
6-5
6-5
1013 E
1015 P
1012 T
10° G
106 M
10° K
102 h
10 da
10-1 d
102 c
10-3 m
10-° v
107° n
1012 p
10—15 f
10°1® a
4
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6-6
min 1 min=60s
h 1h =60 min=3600s
d 1d=24h =86400s
1" = (¥ 648000) rad
¢)
¢) « )
1' = 60" = (¥ 10800)rad
© 1° =60 = (¥ 180)rad
v min 1 min=(¥60)s?!
1n mile=1852 m
n mile
( )
1 kn=1n mile h
kn = (1852 3600) W' s
( )
t 1t=10%kg
u 1u= 1.6605655x 10 % kg
L, 1L =1dm3®=10"3m?
eV leV= 1.6021892x 10 1°
dB
tex ltex=1d km
(1) — (min) (h)  (d)
SI (s),
’ . 28800
(2) — (®
1 .
1t=1Mg=10°kg
, Sl Sl
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, 1 1 , (Mg)

Sl (ko) ) ,
3) - (L)
: 1
5
,m; , 'S omt
37 , ,
, ab,a b,ax b
a 1
; b’ adb a b
: “x", 48yz’; ©x 73Uk 107
b / 3
-3
TA( ).mC ),sC ), Whb( ) ,
N-m N m
L ws mst
s
Q)’ ’
1
(¢9)

(m) (n mile)
101



km cm mm Mom nm pm

(2)
C ) , ;
u
(9) . Mg;  d; mg; bom hg dag
dg cg
t, T,
(M9 (kD) (ht) Lo : ;
kg( ) , - mkg, kkg, Mkg
9C ) : Img, Mg
( )
( )
3)
(N) : M N (10° N) kN

(10°N) mN(10 °N) uN(10 °N)

1 s JAIN = 1kg W' s’

, ( ,
), , : 1kg 45°
, kgf 45° , 9.80665m/ s ( ,
) F= ma, 1kg

9.80665M S )

F=1kgx 9.80665W s" = 9.80665N
, 1kgf 9.80665N

1kgf=9.80665N 1N =0.1019716Kkgf
1kgf=9.81N 1N = 0.102kgf

(kgf) (th)
: ; (N) (kN) (MN)

:1kgf=9.80665N ,

30tF )
30000x 9.80665N =294.1995x 10° N
., 300kN, 30tF 300kN IN =
0.1019716kgf, 300k N =300000x 0.1019716kgf=30.59148x 10°kgf
, 30tf 300kN , 2%,

2% ((30.6 - 30 30=2%)
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2% , , 2 %

— « )
. (Pa) ,
(GPa) (10’ Pa);
(M Pa)(10°Pa); (kPa) (10°Pa); (hPa) (10° Pa); (mPa) (10 °Pa); (u Pa)
(10 °Pa) : (W cm®); (W mn?)
1 1 1Pa=1N m’ ,
, 20
(Pa)
, (kg cm?) ,
1kgf=9.80665N , 1cm®=1(10 °m)* =10 *n’
1kgf cm®=9.80665N 10 “m’ =9.80665x 10° NV m” (  Pa)
1Pa=1.019716x 10 "kgf cm’
0 9.80665W' s’ 13.5951¢ cm’
760m m
760mm =76¢Cm
latm =13.5951x 76g¥ cm’
=1033.23g¥ cm” = 1.03323kgf cm’
=1.03323x 9.80665x% 10°Pa
=1.01325x% 10° Pa
latm = 1.01325x 10’ Pa
1Pa =9.86923x 10 °atm
2
1)
10° , 10°
. T 2 7,
c2C )yty I IGEED A ;o
2 ), v
, , “1km’ =1
(10°m)* =10° m®, 1000m*; 1 , 1
> mum( ) nm(C ;MU F( )
pF ( );15 154 : , ,
(10°) (109 : :
10 L1 L1 OL 1 ¢) (min) Q)
(d) « ) S

103



,1000m 4 . 1km 1000 m 1x 10°m, 1000 m
1km, 1.000k m
2)
Nm nn, o W s nst, : ,,
7 1 7
/ ( ), / / /
, N m . "o "€ km “ "o
s “ " “ "o ;W (m K) “ "
“ " - m’ “ " ( );m3 “ " ( );m4 “ v s
“ " ( )
1 . " st . ”,m'1 . ”,H‘1 “ "
3)
“ 20 20 7, “ 20 7
15572+ 5m “ B572m+ 5m”;1 5m
“1mby”
1 75m
“1Im75cm”
4) ( 67)
6-7
1 T t
2 M m
3 K k
4 my m nm
5
6
7
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9.8

9.

8

10
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11

nN

12

F=ma=9.8

F=ma=9.8
9.8N

13

KW

kW- h

14

kg 5

15

5kg—7kg

5—7kg

16

642mm+ 5mm

642+ 5mm

17

db

dB

18

19

20

10

28

(

)

30

y,yr
hr

10h 28 307

a
h
10h 28min

30s

®)

km

cm

mm

n mile

10
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11 t
12 ) N

13 () kN

14 «C ) Pa

15 «C ) M Pa

16 W s

17 () km/ h /
18 kn

19 A

20 rad s /
21 v min

22 s, min, h

23 C ), d,a C ),
24 rad

25 ©)

26 « ) O

27 ) )

28 C ) K

29

30 ) N-m(N- m)

31 ) A

32 ) v

33 ) >

34 ) F

35 « D S

36 () Hz

37 () J

38 C ), W, VA
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39 Pa s
40 ¢ cn’ /¢
41 ?nd / @
42 «C ) cd
43 () mol
44 «C ) Ix
45 dB
46 .o Mk, h,da
47 . d,c, m,u
€ = X - Xo (6-1)

E—— ;

X— ;

Xo

, 180°, 180°00' 03",

180°00 03" - 180°

3’

= £ 5 @oow) (6-2)
Xo

S %x (100 %) (6-3)

= XS x (100 %) (6-4)

108



] Xmax

» € max
6-1
0004 M Pa,

500kg

2.5

¢y

€nax = 0.0004

8 max

=~ x 100%

xmax

0 Q 2MPa,

Xnax = 0.2 -0 =0.2

_1.795-1.791

2 1.795-1.791

2.5

1.795

2x 1.795

= 0'0(:)_0204>< 100% = 0.2%

0.2

1000kg, 500kg
1.791,

=0.22%

=0.11%

100V,
=2/100=2%

- 86

S0V

1.795,

2V,

(6-5)
(6-6)
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(2)

¢y

()

110
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©)

¢y ( 61(a),
(2) ; (
6-1(b))

®3) ( 61
©))

6-1

¢y

Xo

:5.23m,5.24m,5.24m,5.25m,5.26m, (6.7) X =
5.244m
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(2)

: Xi+ Xs +  + Xi Xi
Xs = —~ B . (6-8)
n n
3)
Xl, X21 ] Xm
P., P, , P,
Xp = PP XS P 6-9
DYDY (6-9)
, P (
1
), P o2
Pl Pz Pn:% lz LZ
O:1 O» On
6_1 L]
L; = 2000.45mm o1 =0.05mm
L, =2000.15mm o2 =0.20mm
L; =2000.60mm 0oz =0.10mm
Pr P2 Ps = % % %
O1 O2 O3
1 1 1
= =16 1 4
0.05° 0.20° 0.10°
P, =16, P, =1, P; = 4
_16x 2000.45 + 1x 2000.15 + 4x 2000.60 _
Xp = 16+1+4 = 2000.46
2
(9
; , o
( ) . ,
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o = 0 (6-10)
> (- x)"
o = — (6-11)
2)
gy = L (6-12)
n
, Y n ,
, N . . 6-2 n .
ox = 0.005m o oOx
o »O X
, o, 0
012m; ,
ox, 0.005m
Oxp
Xl, Xz, Xn; P1,
6-2 n
PZ, y Pn
Pe:
Oxp = Z (6-13)
(n- 1)2 Pi
€i = Xi - -XP
3)
32 5MPa,37. 6 MPa,30. 3MPa,
37.6 -30.3 = 7.3 MPa
4)

) Cv
114



20 % , 1%;
15%, 1%

Cv =15° 0.067

€y

2)

)

6-3

Cv=7-=

20

0.05,
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X Q ’ X = (lz/ |1) Q,
Q ’ P, P:(IZ/ Il)Q, X = P,
X :
X=(|2/ |1)P X P 5 I, # |1,
P(P = P+AP), P =(l/ 1)X
-2 LI
(2)
Al Al Al Al Als ,
Al + Als a AlL, + AL a
5 = 5 = Al;
3)
@ =¢@: ,AlL = esing:
@2 =@1+m  ,AL = esin(pr + M) = - eIn@1 = - Abh
Al + Al Al - Al
2 - 2 -
o O
, ?
Pu(IAX IS a) = Pa
- a,a a (
( ).0
Pa K :
K=1, P.=68%; K =2, P,=9%; K =

116

L# b

(6-14)

Py

3, Pa=299.73%



: K 1, a=+ 1x 0.005 =+ 0.005m,
L = 5.244+ 0.005m = 5.24 5.25m, ,
68.3% ; K 2, + 0.01m, L = 5.244+ 0.01m = 5.
23 5.25m, K =1 5.23m, 5.26m ) 95.4 % ;
K =3, + 0.015m, L = 5.244+ 0.015m = 5.23 5.26m,
99.7 %
1)
2) ;
) : ;
(4) ’ Ei
0, -
lints & =0
n-o MNi=1
. K
fE)= e 207 (6-15)
o 27
’ n- o €i
E=[ “wef(e)dk =0 (6-16)
( ) o
. -0, t0 0.6827; - 20, +
20 , -30,+30 0.9545 0.9973, 6-4 - 30, +
30 1-0.9973=0.27%, 1000 ,1000
2.7 + 30, + 30
. 30 ( )
(a, b) .
L (a< x< b)
f(x)= b-a (6-17)
0 C )
; + 1
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6-1 0.1A ,

. 0.02 A,
X , 0O O0.1A
, X , f(x)
1 _
—b_a—lo 0.02 A,
(0.02,0.08) s
p(0.02< x< 0.08) =[ o:02 F( x) dx
=] 005 10 dx = 0.6 = o4
60 %
60 %
6_9 ] 1a:k)- 1(_a7a)
, K ,€
6-9
(0}
0.9973 3
o 0.9545 2
0.6827 1
1 3
o 3 0.99 0.99 3
0.95 0.95 3
1 6
o 6 0.99 0.9 6
0.95 0.77 6
1 2
o 2 0.99 1.414
0.95 1.140
1 4.5
2 d3 0.99 0.99 4.5
0.95 0.95 4.5
1 2
o2 0.99x 2
0.95 0.95x 2
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1 2
ad 2 0.99 0.95x 2
0.95 0.95x 2
1) ) ;
(2) .
(€)) ;
@)
30 ( )

(n>10), 30 )
lei| > 30, , , n <
10

n , Yi Ei f.o ’
leil > f.o Yi , i n , 6-10
6-10
n 6 8 10 12 14 16 18 20 22 24 26 28
f 1.73 1.86 1.96 2.04 2.10 2.16 2.20 2.24 2.28 2.31 2.34  2.37
n 30 35 40 45 50 55 60 65 70 80 90 100
f, 2.39 2.45 2.50 2.54 4.58 2.61 2.64 2.67 2.69 2.74 2.77 2.81
, n=>5 “ " 20.
78 % n<185 , 30 , n>185 30 , nooo
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Xi . = a
. 9=~ (
Xn - .
P2 g(no) =a (6-18)
, go(n, a) 6-11 Xi
| Xi- X| > gr © (6-19)
Xi,
Q@ (a, n) 6-11
(o (o

n n n

0. 01 0. 05 0. 01 0. 05 . 01 . 05
3 1 15 1 15 12 2. 55 2. 28 21 91 2. 58
4 1 49 1 46 13 2. 61 2. 33 22 94 2. 60
5 1 75 1 67 14 2. 66 2. 37 23 96 2. 62
6 1 94 1 82 15 270 2 41 24 99 2 64
7 210 1 94 16 2. 75 2 44 25 01 2. 66
8 2. 22 2. 03 17 2. 78 2. 48 30 10 2 74
9 2. 32 2 11 18 2. 82 2. 50 35 18 2. 81
10 2 41 2 18 19 2. 85 2 53 40 24 2. 87
11 2. 48 2. 23 20 2. 88 2. 56 50 34 2. 96

(Dixon)
, o
1 n . :
X(l) < X(z) < < X(n)
Xo(1=1,2, ,n)
2 , 6-12 Qi
3 a, 6-13 Qi
4 Qij ’
Qii > Qi
Xey(C Xey) ,
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Qij 6-12

n Xy X (n)
X,on = X X, - X
3< ng 7 Qqo = YQ)_X(‘D' _Xm_)%u
(m - m - @
8< n< 10 L=2t@a- X Xewm = Xen-ny
X(n-1 = X Xy = X@
X(ay = X Xemy - X
) .
11< n< 13 Q, = ——A (= A(n-2)
X(n-1 = X@) Xy = X@
Xeay = X Xemy - X
Xy - Xy X = Xn-2)
14< n< 25 0y =
Xn-2) = X@) Xy = X@)
Oiio 6-13
n a=0.05 a=0.01 n a=0.05 a=0.01
0.546 0.641
3 0.94 0.988 14
0.525 0.616
4 0.765 0.889 15
.507 )
rio 5 0.642 0.780 16 0.50 0.695
0.490 0.577
6 0.560 0.690 17
0.475 0.561
7 0.507 0.637 18
0.462 0.547
19
8 0.554 0.683 Ipo 20 0.450 0.535
r, 9 0.512 0.635 ’1 0.440 0.524
10 0.477 0.597 - 0.430 0.514
) 0.421 0.505
11 0.576 0.679 ot 0.413 0.497
Ipq 12 0.546 0.642 - 0.406 0.487
13 0.521 0.615 0.489
6-2 15 ,
15 )
1 6-14 :
6-14
i Ti( ) ez T T Szi €= T T e
( )x10°3 ( )x 1078 ( )x 103 ( )x 1078
1 20.42 16 256 -9 81
2 20.43 26 676 19 361
3 20.40 -4 16 - 11 121
4 20.43 26 676 19 361
5 20.42 16 256 1 81
6 20.43 26 676 19 361
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: Tic ) £;= Ti- T €5 g,= T;- T g'?
( )x10°° ( )x10°° ( )x 1073 ( )x 10°°
7 20.39 -14 196 -21 441
8 20.30 - 104 10816 — —
9 20.40 -4 16 -11 121
10 20.43 26 676 19 361
11 20.42 16 256 9 81
12 20.41 6 36 -1 1
13 20.39 -14 196 -21 441
14 20.39 -14 196 -21 441
15 20.40 -4 16 -11 121
T=20.404 T =20.411
(1) gi= Ti- T
) Y ei = 14960 x 10°°
3) o
2
o= );_Ll =3.3x 1077°( )
30 =9.9x 1077
4)
8 |es | = 104x 107° > 3o,
(5) 14
T =20.411 ( ); S e =3374x 10°°
;o 337144x_110 t 1.6x 10°°C )
30' =48x 10 °( )
le'i] <30',
2 :
(1) n=15 f, =2.13
) 6=3.3x 107°( )

(3)f: 0=2.13%x 3.3x 10 °=7.03x 10" °( )
(d)]es] = 10.4x 10°% > f.0

®)

n=14f,=2.0 ,0 =1.6x 10 °

f.o =
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14

3.4x 10°°( )

le'il < £.0',



6-3 (%) 29.43,8.70,8.40,7.65,
10.04,12.03,9.52,6.95,9.80,7.04,6.80,6.30,7.05,5.36

(D) , -5.36,6.30,6.80,6.95,7.04,7.05,7.65, 8.
40,8.70,9.43,9.52,9.80,10.04,12.03
n=14, sz :

] _6.80-5.36
K Q2229780 - 5.36
) ~12.03-9.80
Kaw: Q22 =35 03 6. 80
Q22 0.426, X 14 a0 =0.05  Qux=0.546

Q22 < Qom
12.03

=0.324

=0.426

(2)
X =8.22, 0 =1.80
n=14 6-11 f, =2.10
fr 0=2.10x 1.8=3.78
|12.03 -8.22]=3.81> f: ©
,12.03
)
X =8.22, c=1.8
a =0.05, 6-12  g0(0.005, 14) =2.37
[12.03 - 8.22] =3.8 < g0 (0.005, 14) o =4.266
12.03
(4)30
X =8.22, 0=1.8
30=1.8x 3=5.4
|12.03 - 8.22] =3.8 <30 = 5.4

12.03
, n<185
€y ; :
(2) ; : :
) ; ( 6-3),
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A B CD

12 , A Ay As B: B Bs
1 , L.(2%)
Ls (2°) 1
1 2 3
1 1 1 1
2 1 2 2
3 2 1 2
4 2 2 1
La(2°) « L , L ‘g 4 (
)’ ; [1] 3” 3 ( ),
3 ; “« 2 1 2,
1 2
L. (2°)
1 , , —1 2,
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b} ) b} :(111)1(11
2),(2,1),(2,2),
:Le(2'), Le(2), L1s(2'), La2(2), 5 Le(3Y), L (BF), ; Lis(4),
: Ls(5°), 5
23
, A B C , 2> =8 ,
2
2 2
A B C
1 1 1 1
2 1 1 2
3 1 2 1
4 1 2 2
5 2 1 1
6 2 1 2
7 2 2 1
8 2 2 2
1 8 . 2°
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( A) IS0 9000

( B)
( )
( C)
3 =271 ; 3'=81 ;
3" =59049 , ,
1 “ 3
A1, A., B1, B . “ 3 A; B1, A1 B2, A2 B1, A2 B:; A, Az, Ci, G
. “ 8 A Ci, A1 C2, A2 Ci, Az Cy; B:, B2, Ci, C; , ! 8
A , B , C , B C
, , 11 8
A B C , 8 ) 4
7-1 7-1
, . 8 113 ”
8 : . L. (2°) 4
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3
3
KC ) KC )
A B C D
1 344(70 ) 299. 6(26 6 ) 0. 40
2 355(82 ) 308. 0(35 0 ) 0. 47
3 366(93 ) 316. 4(43 4 ) 0. 54
4
: 3 =81 s
4
4 81 ’ 70. 0 M Pa ’ - AL B: Ci Ds
A1 B,C,D: AsB3zCy D: A3 B; C, D: AzB; C, Dy
4
i La (3) i 9 i
4 “ K 9 ’ A1 Bl Cl D1 A3 Bl Cz Dz
81
(MPa) 4
D D, D, D3
B
c A B, B, B B, B, B B, B, B
A 70. 0 68 3 68. 5 56. 1 56. 8 61 7 48. 3 45. 4 49. 0
oft A, 64 7 63 0 62 4 527 54. 0 53 9 40. 6 44.1 43. 2
As 69, 7 68 9 70. 4 58 8 58. 8 59 5 51 9 50. 1 51 1
A 65. 6 70 2 621 58. 4 50. 8 58 1 44. 4 59. 8 47. 5
C, A, 66. 2 69 8 58.7 56. 2 53 8 49 6 42.0 46 0 41 1
As 70. 5 68 1 70. 5 60.7 53 6 62 7 50, 7 49, 6 52. 9
Ay 69. 3 68 1 6L 1 58. 7 6L 5 56 1 47. 9 50. 6 48. 2
Cs A, 64. 0 62 1 60. 4 54.2 51 6 52 0 42.1 40. 8 4 1
A; 64. 1 63 3 68. 4 52. 4 59. 4 62 0 49. 7 50. 8 51 1
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: 3 , Ls (2°), Ls (27,

: Lo (3")
] A B C Le(3%) 123
5
A B C
1 2 3
1 1 1 1
2 1 2 2
3 1 3 3
4 2 1 2
5 2 2 3
6 2 3 1
7 3 1 3
8 3 2 1
9 3 3 2
5 [13 l” [13 2” [13 3”
[13 111 s A [13 111 Al [13 1” .
“17, B: C A, B; C; .

:L A]_ B]_ C]_ 2. A]_ BZ C2 3. Aj_ B3 C3
128



4 A, B: C; 5. A, B, Cs (61 A, B; Cy
7. As; B: Cs 8 As B, Cy Q As; B3 C;
[ 2] , 20,30,
40mm, L5%,20%,30% ,
[ 1:
) 3,
1 ’
6
(mm) (%)
A B
1 20 L5
2 30 2.0
3 40 30
2 Le (3% 7
7
1 2 3 4
A B
) (& (0 (D) (WPa)
(mm) (%)
1 20( Ay) L 5(By) (Cy) (Dy)
2 20( A 2. 0(By) (¢ (D)
3 20( A1) 3. 0(B3) (Cs) (D3)
4 30( Az) 1 5(By) (Cy) ( D3)
5 30( A7) 2 0(By) (C3) (D)
6 30( Ay) 3. 0(B3) (Cy) (D2)
7 40( A3) L 5(By) (Cs) (D2)
8 40( A3) 2 0(By) (C) (D3)
9 40( Ag) 3. 0(B3) (C2) (Dy)
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Ki,?i

i, 1
KI( j ) - j 11 i”
— ) Ki )
Ki( J ) = 3
RC 1 )= ] K, ,
Ki y ]
[ 3] 2
1 [A ] Kl ’ Al 3 )
Ki( 1 )=(-272)+(-278)+127=-4.23
Ki( 1 )=-43”3=-141
2 (B ) K1, Br 3 ,
Ki( 2 )=(272)+132+611=4T71
Ki( 2 )=47¥3=157
3 ( ) Ks, 3
8
1 2 3 4 (M Pa)
C (D) X Xi yi= % - 10
(A) (B) (©
L 20( Ay) 1 5(By) (C1) (Dy) 2 28 5 72
5 20( Ay) 2. 0(By) (Cy) (D) 2 22 2 78
3 20C A1) 3. 0(B3) (Ca) (D3) 11 27 1 27
4 30( Ay) L 5(By) (C) (D3) 11 32 1 32
5 30( Ay) 2. 0(By) (Cy) (Dy) 16 17 6. 17
6 30( A2) 3 0( BS) ( Cl) ( Dz) 18 97 8. 97
7 40( A3) L 5(By) (C3) (D) 16 11 6. 11
8 40( Ag) 2. 0(By) (C1) (Ds) 17. 72 .72
9 40( A3) 3 0(By) ( C2) (Dy) 20 40 10 40
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K1 -4 23 4. 71 13. 97 13. 85
K, 16 46 11 11 8. 94 12. 30
Ks 24 23 20 64 13. 55 10. 31
« 141 157 4. 66 4. 62 2 ¥ =36 46
K, 5. 49 3.70 2. 98 4. 10
TS 8. 08 6. 88 4. 52 3. 44
R 9. 49 5. 31 1 68 1 18
Ks( 3 )=L127+6 17+6 11=13 55
Ks( 3 )=135¥3=4 52
4 ( ) Ki, D, 3
Ki( 4 )=-272+6 17 +10. 4=13. 85
Ki( 4 )=13 83 =4 62
, Ki Koo,
(A ) R=8 08- (-1 41) =9 49
(B ) R=688-157=5 31
( C) R=466-2098=1 68
( D) R=462-344=1 18
(L 68+1 18y 2=1 43 .
A- B As Bs, 9, 40mm, 30%
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(Ki+ 10)

20—

15—

10—
(MPa)

| ]

20 30 40 L5 20 30
(mm) )
2 (K;+ 10)
2 ,
A , B
1
(1) ( , )
, S
n Yi, Y2, , Yn, Y .
__l n
=13
Yi, Y2, , Ya Y ,
S=3 (Yi- Y)Y’
S (Y, Yo, ,Yn)
(1,2,3) (0,2,4), 0,2,4) (1,2,3)
. (

S =Zn (Yi-_Y)Zzzn Y& - CT
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cT—— cT = (Y )7 n
Yi—
2
n—— ,N=r-m
m— ;
—
K ——
2)
, n ( )S:Zl(\(i-_\()2 S
1, n-1, , “ v",v:nfl, n-1
S A &
f
f = -1
f = -1
f = f = -1
fo=f -y f
( ) v
V =S /f
=S /f
Q) F
F Fos
’ v
S/ f
S/ f
4) F
F . F
, F o, F F
F F ( 6) ni:1,2,3,4, F
, n:1,2,3,4, F ,
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(5) a

F ( A ),
1—a a=5%, Fa> Foos(Fa, T )
95 % A
(6)

A F Fa

Fa> Fo.oi( N1, N2) ’
* *
Foor(ni, n2) > Fa> Fooos(Ne, ;) .
* *

Fo.os( M, Nn2) > Fa > Fo.io( N1, N2) ’

*

. v Vv .
, , s
v ,
S =S +§
f =f +%
Vv =5 /f
2
[ 4] 2
¢y S
0
Zlvi:36.46

9
cT = (Y Yi)7/ n = 36 427 9 = 147. 70
-1
9

Z Yi© = 342 10

-1

S =342 10 - 147. 70 = 194.40
2 2 2

S, = (-4 23) + (16346) + (24. 23) _ 147 70 = 144 27

) 2 + 2 + 2
S = Al + (11 11) + (20 64y ;l 2064 - 147. 70 = 42 84
_ 2 2 2 _

S = (13 97) +(8.§4) + (13 55) _147.70 = 5 19
2 2 ] 2

S, = (13 85)" + (12.330) + (10. 31) - 147.70 = 2 10

S = Sc+ So =519+210 =729

S =S -(Sa+ Sg) =729
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() f
f:9—1:8, fo= fg =3-1=2

f = f =2x@3-1)=4

f = f -(fu+f)=8-(Q2+2) =4
)
9
Fo = 7214 1 82 = 39 64
Fe = 2L 471 82 = 11 77
9
F
S f V
A 144. 27 2 72. 14 39 64 * ko Fo.s(2,4) =6. 94
B 42. 84 2 21 42 11 77 * Fo.0(2,4) =18.0
7. 29 4 1 82
1
N
2
N N (Z Yi) N
S =V (Yi-Y)Y=F (Yi)?-—mm= Y& - CT
2. 2. T2
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S =rlzl(Ki—_Y)2= g - CT
" 2
Yi
S A
N—— , N = nl
n—— , n=mr
— ;
m—-— ’
r—
2
f = N-1
f = m-1
f =f -y f
3
S 1, .
. S 2,
;
S,=5 :‘1IrI - CT
f.=f = m1l
S, =( - )
f, = x ( - 1)
= nx (I-1)
S =S 1+ S,
f = f,+f,;
] F
F:SJfl
S 4 T
F< Foos(F «,F2) |,
Fo.os(F 1, T 2), S 1 )
[ 3]
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1 ) L. (2)
10
2%X 3 =6; 2
— A2 BZ
10
1 2 3 Y; = RI- 60(MPa)
c 1 2 3
(A) (B) ©
1 (A) (B1) (Cy) 8. 0 6. 2 7.1 21 3 7.1
2 (A1) (B2) (C) 35. 0 26. 4 3L 3 92 7 30.9
3 (A,) (B,) (C,) 14. 2 12. 6 11 4 38. 2 12. 73
4 (A) (8,) (c) 49. 6 47. 8 38. 7 136. 1 45. 37
Ky 114. 0 59. 5 157. 4
K, 174. 3 228. 8 130. 9
Tl 19. 0 9 92 26. 23 z Y; = 288 3
K, 29 05 38 13 21 82
R 1Q 05 28 21 4 41
2
, N=12,n=4,1=3, m =2, r=2
2
Z Yi = 288 3 CT = 28513'23 = 6926. 41
)3 Y’ = 9787 55
S = z Yi: - CT = 9787.55 - 6926. 41 = 2861 14
g, = A Q) + (174 3) 6996 41 = 303 01
2% 3
2 + 2
Sg = (54 5) (228 8) - 6926 41 = 2388 55
2% 3
_ (157 4)” + (130.9)° _
s,z =D + 30D 5495 41 = 53 52
2x 3
S, = [(0.9) + (-0.9)" + 0] + [(4 1) + (~45)° +0.47] + [(L 47) +

(-Q 13)° + (-1 33)°] + [(4 23)° + (2 43)° + -6 67°] = 111 07

S =S4+ S5+ S 1 +S , =30301+ 238854 +58 52+ 111 07 = 2861 14
S ,
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f =12-1 =

f1:

f.=(l-1n

f = f,+ 3 +

f ,

. 58571 _
111 07 8

f =2-1=1

=(3-1)x 4=28
f.+f =11

4 22

Fo.05(1,8) = 532 > 4 22,
S =S .:+S ,=5852+11L 07 = 169 59
f = f,+F,=1+8=09

fAsz:Z—].:

11
11
F
S f v
A 303. 01 1 303. 01 16. 08 Fo.0s(1,9) = 5. 12
B 2388. 54 1 2388 54 126. 78 Fo.01(1,9) = 1Q 56
169. 59 9 18. 84

A2 B2
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1
(z) =] % e 7 dz
211
; 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09

0.0 0.5000 0.5040 0.5080 0.5120 | 0.5160 | 0.5199 | 0.5239 | 0.5279 | 0.5319 | 0.5359
0.1 0.5398 0.5438 0.5478 0.5517 | 0.5557 | 0.5596 | 0.5636 | 0.5675 | 0.5714 | 0.5753
0.2 0.5793 0.5832 0.5871 0.5910 | 0.5948 | 0.5987 | 0.6026 | 0.6064 | 0.6103 | 0.6141
0.3 0.6179 0.6217 0.6255 0.6293 | 0.6331 | 0.6368 | 0.6406 | 0.6443 | 0.6844 | 0.6517
0.4 0.6554 0.6591 0.6628 0.6664 | 0.6700 | 0.6736 | 0.6772 | 0.6808 | 0.6844 | 0.6879
0.5 0.6915 0.6950 0.6985 0.7019 | 0.7054 | 0.7088 | 0.7123 | 0.7157 | 0.7190 | 0.7224
0.6 0.7257 0.7291 0.7324 0.7357 | 0.7389 | 0.7422 | 0.7454 | 0.7486 | 0.7517 | 0.7549
0.7 0.7580 0.7611 0.7642 0.7673 | 0.7704 | 0.7734 | 0.7764 | 0.7794 | 0.7823 | 0.7852
0.8 0.7881 0.7910 0.7939 0.7967 | 0.7995 | 0.8023 | 0.8051 | 0.8078 | 0.8106 | 0.8133
0.9 0.8159 0.8186 0.8212 0.8238 | 0.8264 | 0.8289 | 0.8315 | 0.8340 | 0.8365 | 0.8389
1.0 0.8413 0.8438 0.8461 0.8485 | 0.8508 | 0.8531 | 0.8554 | 0.8577 | 0.8599 | 0.8621
1.1 0.8643 0.8665 0.8686 0.8708 | 0.8729 | 0.8749 | 0.8770 | 0.8790 | 0.8810 | 0.8830
1.2 0.8849 0.8869 0.888 0.8907 | 0.8925 | 0.8944 | 0.8962 | 0.8980 | 0.8997 | 0.9015
1.3 0.9032 0.9049 0.9066 0.9082 | 0.9099 | 0.9115 | 0.9131 | 0.9147 | 0.9162 | 0.9177
1.4 0.9192 0.9207 0.9222 0.9236 | 0.9251 | 0.9265 | 0.9279 | 0.9292 | 0.9306 | 0.9319
1.5 0.9192 0.9345 0.9357 0.9370 | 0.9382 | 0.9394 | 0.9406 | 0.9418 | 0.9429 | 0.9441
1.6 0.9452 0.9463 0.9474 0.9484 | 0.9495 | 0.9505 | 0.9515 | 0.9525 | 0.9535 | 0.9545
1.7 0.9554 0.9564 0.9573 0.9582 | 0.9591 | 0.9599 | 0.9608 | 0.9616 | 0.9625 | 0.9633
1.8 0.9641 0.9649 0.9656 0.9664 | 0.9671 | 0.9678 | 0.9686 | 0.9693 | 0.9699 | 0.9706
1.9 0.9713 0.9719 0.9726 0.9732 | 0.9738 | 0.9744 | 0.9750 | 0.9756 | 0.9761 | 0.9767
2.0 0.9772 0.9778 0.9783 0.9788 | 0.9793 | 0.9798 | 0.9803 | 0.9808 | 0.9812 | 0.9817
2.1 0.9821 0.9828 0.9830 0.9834 | 0.9838 | 0.9842 | 0.9846 | 0.9850 | 0.9854 | 0.9857
2.2 0.9861 0.9864 0.9868 0.9871 | 0.9875 | 0.9878 | 0.9881 | 0.9884 | 0.9887 | 0.9890
2.3 0.9893 0.9896 0.9898 0.9901 | 0.9904 | 0.9906 | 0.9909 | 0.9911 | 0.9913 | 0.9916
2.4 0.9918 0.9920 0.9922 0.9925 | 0.9927 | 0.9929 | 0.9931 | 0.9932 | 0.9934 | 0.9936
2.5 0.9938 0.9940 0.9941 0.9943 | 0.9945 | 0.9946 | 0.9948 | 0.9949 | 0.9951 | 0.9952
2.6 0.9953 0.9955 0.9956 0.9956 | 0.9959 | 0.9960 | 0.9961 | 0.9962 | 0.9963 | 0.9964
2.7 0.9965 0.9966 0.9967 0.9968 | 0.9969 | 0.9970 | 0.9970 | 0.9972 | 0.9973 | 0.9974
2.8 0.9974 0.9975 0.9976 0.9977 | 0.9977 | 0.9978 | 0.9979 | 0.9979 | 0.9980 | 0.9981
2.9 0.9981 0.9982 0.9982 0.9983 | 0.9984 | 0.9984 | 0.9985 | 0.9985 | 0.9986 | 0.9986
3.0 0.9987 0.9987 0.9987 0.9988 | 0.9988 | 0.9989 | 0.9989 | 0.9989 | 0.9990 | 0.9990
3.1 0.9990 0.9991 0.9991 0.9991 | 0.9992 | 0.9992 | 0.9992 | 0.9992 | 0.9993 | 0.9993
3.2 0.9993 0.9993 0.9994 0.9994 | 0.9994 | 0.9994 | 0.9994 | 0.9995 | 0.9995 | 0.9995
3.3 0.9995 0.9995 0.9995 0.9996 | 0.9996 | 0.9996 | 0.9996 | 0.9996 | 0.9996 | 0.9997
3.4 0.9997 0.9997 0.9997 0.9997 | 0.9997 | 0.9997 | 0.9997 | 0.9997 | 0.9997 | 0.9998

Z; 1.282 1.645 1.960 2.326 2.576

(Z) 0.90 0.95 0.975 0.99 0.995

Zi 3.090 3.291 3.719 3.891
(Z) 0.999 0.9995 0.9999 0.99995
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K _-A
Peke oy :sz Ae”
=0 K1
A(nP)
m
0.1 0.2 0.3 0.4 0.5 0.6

0 0.905 0.891 0.741 0.670 0.607 0.638
1 0.995 0.982 0.963 0.938 0.910 0.736
2 1.000 0.999 0.996 0.992 0.986 0.920
3 1.000 1.000 0.999 0.998 0.981
4 1.000 1.000 0.996
5 0.999
6 1.000
.

8

9

m 1.5 2.0 3.0 4.0 5.0 6.0
0 0.223 0.135 0.050 0.018 0.007 0.002
1 0.558 0.406 0.199 0.092 0.040 0.017
2 0.809 0.677 0.423 0.238 0.125 0.062
3 0.934 0.857 0.647 0.433 0.265 0.151
4 0.981 0.947 0.815 0.629 0. 440 0.285
5 0.996 0.983 0.916 0.785 0.616 0.440
6 0.999 0.995 0.966 0.889 0.762 0.606
7 1.000 0.990 0.988 0.949 0.867 0.744
8 1.000 0.996 0.979 0.932 0.847
9 0.999 0.992 0.968 0.916
10 1.000 0.997 0.986 0.957
11 0.999 0.995 0.980
12 1.000 0.998 0.991
13 0.999 0.996
14 1.000 0.998
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-3 ZZ:L..G/' n

Zoa 200 Zya Zia

f n n n n
1 1.960 2.576 1.645 2.326
2 1.386 1.821 1.163 1.645
3 1.132 1.487 0.950 1.343
4 0.980 1.288 0.822 1.163
5 0.877 1.152 0.736 1.040
6 0.800 1.052 0.672 0.950
7 0.741 0.974 0.622 0.879
8 0.693 0.911 0.582 0.822
9 0.653 0.859 0.548 0.775
10 0.620 0.815 0.520 0.735
11 0.591 0.777 0.496 0.701
12 0.566 0.744 0.475 0.671
13 0.544 0.714 0.456 0.645
14 0.524 0.688 0.440 0.622
15 0.506 0.665 0.425 0.601
16 0.490 0.644 0.522 0.582
17 0.475 0.625 0.399 0.564
18 0.462 0.607 0.388 0.548
19 0.450 0.591 0.377 0.534
20 0.438 0.576 0.368 0.520
21 0.428 0.562 0.359 0.508
22 0.418 0.549 0.351 0.496
23 0.409 0.537 0.343 0.485
24 0.400 0.526 0.336 0.475
25 0.392 0.515 0.329 0.465
26 0.384 0.505 0.323 0.456
27 0.377 0.496 0.317 0.448
28 0.370 0.487 0.311 0.440
29 0.364 0.478 0.305 0.432
30 0.358 0.470 0.300 0.425
31 0.352 0.463 0.295 0.418
a1 0.306 0.402 0.257 0.363
51 0.274 0.361 0.230 0.326
61 0.251 0.330 0.211 0.298
71 0.233 0.306 0.195 0.276
81 0.218 0.286 0.183 0.258
01 0.205 0.270 0.172 0.244
101 0.195 0.256 0.164 0.231
201 0.138 0.182 0.116 0.164
501 0.088 0.115 0.073 0.104

0 0 0 0
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a

T 0.10 0.05 0.025 0.01 0.005
1 3.078 6.314 12.706 31.821 63.657
2 1.886 2.920 4.303 6.965 9.925
3 1.638 2.353 3.182 4.541 5.841
4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707
7 1.415 1.895 2.365 2.998 3.499
8 1.397 1.860 2.306 2.896 2.355
9 1.383 1.833 2.262 2.821 3.250
10 1.372 1.812 2.228 2.764 3.169
11 1.363 1.796 2.201 2.718 3.105
12 1.356 1.782 2.179 2.681 3.055
13 1.350 1.771 2.160 2.650 3.012
14 1.345 1.761 2.145 2.624 2.977
15 1.341 1.753 2.131 2.602 2.947
16 1.337 1.746 2.120 2.583 2.921
17 1.333 1.740 2.110 2.567 2.898
18 1.330 1.734 2.101 2.552 2.878
19 1.328 1.729 2.093 2.539 2.861
20 1.325 1.725 2.086 2.528 2.845
21 1.323 1.721 2.080 2.518 2.831
22 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 1.711 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787
26 1.315 1.706 2.056 2.479 2.779
27 1.314 1.703 2.052 2.473 2.771
28 1.313 1.701 2.048 2.467 2.763
29 1.311 1.699 2.045 2.462 2.756
30 1.310 1.697 2.042 2.457 2.750
31 1.310 1.696 2.040 2.453 2.744
32 1.309 1.694 2.037 2.449 2.739
33 1.308 1.692 2.035 2.445 2.733
34 1.307 1.691 2.032 2.441 2.728
35 1.306 1.690 2.030 2.438 2.724
36 1.306 1.688 2.028 2.434 2.720
37 1.305 1.687 2.026 2.431 2.715
38 1.304 1.686 2.024 2.429 2.712
39 1.304 1.685 2.023 2.426 2.708
40 1.303 1.684 2.021 2.423 2.704
60 1.296 1.671 2.000 2.390 2.660
120 1.289 1.658 1.986 2.358 2.617
00 1.282 1.645 1.960 2.326 2.576
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1L L)
1 2
1 1 1
2 1 2
3 2 1
4 2 2
2. Ls(2")
1 2 3 4 5 6 7
1 1 1 1 1 1 1 1
2 1 1 1 2 2 2 2
3 1 2 2 1 1 2 2
4 1 2 2 2 2 1 1
5 2 1 2 1 2 1 2
6 2 1 2 2 1 2 1
7 2 2 1 1 2 2 1
8 2 2 1 2 1 1 2
3. Lw(2)
1 2 3 4 5 6 7 8 9 10 11
1 1 1 1 1 1 1 1 1 1 1 1
2 1 1 1 1 1 2 2 2 2 2 2
3 1 1 2 2 2 1 1 1 2 2 2
4 1 2 1 2 2 1 2 2 1 1 2
5 1 2 2 1 2 2 1 2 1 2 1
6 1 2 2 2 1 2 2 1 2 1 1
7 2 1 2 2 1 1 2 2 1 2 1
8 2 1 2 1 2 2 2 1 1 1 2
9 2 1 1 2 2 2 1 2 2 1 1
10 2 2 2 1 1 1 1 2 2 1 2
11 2 2 1 2 1 2 1 1 1 2 2
12 2 2 1 1 2 1 2 1 2 2 1
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Le (3%)

1

L1s(3)

2

— AN M

—ANM

— AN M

—ANM

10
11
12

13
14
15
16
17
18

Lis (4°)

1

—ANM <

—ANM <

—ANM <

—ANM <

O © ™~ o

11
12
13
14
15
16
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-6

P(F>Fa)= a

F

( Fa ) a=0.05
» A 2 3 4 5 6 7 8 o | 10 | 12| 15| 20| 60 |
1 161.4(199.5|215.7|224.6|230.2 [234.0(236.3|238.9(240.5| 241.9| 243.9| 245. 9 248. 0| 252.2| 254.3
2 18.51(19.00(19.16|19.25[19.30 [19.38[19.35(|19.37|19.38|19.40|19.41[19.43[19.45|19.48 |19.50
10.13[9.55 [ 9.28 | 9.12 | 9.01 | 8.94 [ 8.89 | 8.85 | 8.81 | 8.78 | 8.74 | 8.70 | 8.66 | 8.57 | 8.53
4 7.71 | 6.94 | 6.59 | 6.38 | 6.25 [ 6.16 | 6.09 | 6.04 | 6.00 | 5.96 | 5.91 | 5.86 | 5.80 | 5.68 | 5.63
5 6.61 |5.79 [ 5.41 | 5.19 | 5.05 | 4.95 | 4.88 | 4.82 |4.77 | 4.74 | 4.88 | 4.62 | 4.58 | 4.43 | 4.36
6 5.99 | 5.14 | 4.76 | 4.53 | 4.39 [ 4.28 | 4.21| 4.15 | 4.10 | 4.06 | 4.00 | 3.94 | 3.87 | 3.74 | 3.67
7 5.59 | 4.74 | 4.35 | 4.12 | 3.97 | 3.87 [ 3.79 | 3.73 | 3.68 | 3.64 | 3.57 | 3.51 | 3.44 | 3.30 | 3.23
8 5.32 | 4.46 | 4.07 | 3.84 | 3.69 [3.58 | 3.50 | 3.44 |3.30 [ 3.35 [3.28 | 3.22 | 3.15 | 3.01 | 2.93
9 5.12 | 4.26 | 3.86 | 3.63 | 3.48 [3.37 | 3.28 | 3.23 |3.18 [ 3.14 [3.07 | 3.01 | 2.94 | 2.79 | 2.71
10 4.96 | 4.10 | 3.71 |3.48 | 3.33 | 3.22 | 3.14|3.07 |3.02 | 2.98 | 2.91 | 2.85 | 2.77 | 2.62 | 2.54
11 4.84 |3.98 | 3.59 3.36 [ 3.203.09(3.01|2.95[2.90|2.85|2.79 | 2.72 | 2.65 | 2.49 | 2.40
12 4.75|3.89 | 3.49 [3.26 | 3.11 [3.00 | 2.91| 2.85|2.80 | 2.75 | 2.69 | 2.62 | 2.54 | 2.38 | 2.50
13 4.67 |3.81|3.41|3.18 | 3.03[2.92|2.83|2.77 | 2.71 | 2.67 | 2.60 | 2.53 | 2.46 | 2.30 | 2.21
14 4.60 | 3.74 | 3.34 [3.11 | 2.96 | 2.85 | 2.76 | 2.70 | 2.55 | 2.60 | 2.53 | 2.46 | 2.39 | 2.22 | 2.13
15 4.54 |3.68 | 3.29 [3.06 | 2.90 [2.70 | 2.71| 2.64 | 2.50 | 2.54 | 2.48 | 2.40 | 2.33 | 2.16 | 2.07
16 4.49 |3.63 | 3.24 [3.01 | 2.85 [2.74 | 2.66 | 2.59 | 2.54 | 2.49 | 2.42 | 2.35 | 2.28 | 2.11 | 2.01
17 4.46 |3.59 | 3.20 |2.96 | 2.81 [ 2.70 | 2.61 | 2.55 | 2.49 | 2.45 [ 2.38 | 2.31 | 2.23 | 2.06 | 1.95
18 4.41|3.55 3.16 |2.93 | 2.77 [ 2.66 | 2.58 | 2.51 | 2.46 | 2.41 [ 2.34 | 2.27 | 2.19 | 2.02 | 1.92
19 4.38 |3.523.132.90 | 2.74 | 2.63 | 2.54 | 2.48 | 2.42 | 2.38 | 2.31 | 2.23 | 2.16 | 1.98 | 1.88
20 4.35|3.49 [3.10 |2.87 | 2.71 [ 2.60 | 2.51 | 2.45 | 2.30 | 2.35 [ 2.28 | 2.20 | 2.12 | 1.95 | 1.88
21 4.32 |3.47 | 3.07 |2.84 | 2.68 | 2.57 | 2.49| 2.42 | 2.37 | 2.32 | 2.25 | 2.18 | 2.10 | 1.92 | 1.81
22 4.30 | 3.44 | 3.05 | 2.82 | 2.66 | 2.55 | 2.46 | 2.40 | 2.34 | 2.30 | 2.23 | 2.15 | 2.07 | 1.89 | 1.78
23 4.28 |3.42 [ 3.03 | 2.80 | 2.64 [2.53 | 2.44 | 2.37 | 2.32 | 2.27 | 2.20 | 2.13 | 2.05 | 1.86 | 1.76
24 4.26 |3.40 | 3.01 |2.78 | 2.62 [ 2.51 | 2.42| 2.36 | 2.30 | 2.25 [ 2.18 | 2.11 | 2.03 | 1.84 | 1.73
25 4.24|3.39 | 2.99 [2.76 | 2.60 [ 2.49 | 2.40| 2.34 | 2.28 | 2.24 | 2.16 | 2.09 | 3.01 | 1.82 | 1.71
30 4.17 |3.32 | 2.92 | 2.60 | 2.53 [ 2.42 | 2.33| 2.27 | 2.21 | 2.16 | 2.09 | 2.01 | 1.93 | 1.74 | 1.62
40 4.08 |3.23|2.84 |2.61|2.45[2.34|2.25|2.18 | 2.12 | 2.08 | 2.00 | 1.92 | 1.84 | 1.64 | 1.51
60 4.00 |3.15 | 2.76 | 2.53 | 2.37 [ 2.25 | 2.17| 2.10 | 2.04 | 1.99 | 1.92 | 1.84 | 1.75 | 1.53 | 1.39
120 3.92 [3.07 | 2.68 | 2.45 | 2.20 | 2.17 [ 2.09| 2.02 | 1.96 | 1.91 | 1.83 | 1.75 | 1.66 | 1.43 | 1.25
% 3.84 |3.00 | 2.60 | 2.37 [ 2.21 [2.10 |2.01| 1.94 | 1.88 | 1.83 |1.75 | 1.57 | 1.57 | 1.32 | 1.00
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19.
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1996

,1993
, 1996
,1995
,1991
, 1986
,1988

,1995

,1991

,1986

,1988
,1988
,1982
,1991
,1987
,1988
,1988
,1988
,1999
(JTJ 268 - 96)
(JTJ 270 - 98)
(JTJ 221 - 98)
(GB3100 - 3102 - 93)
(GB8170 - 87)
(GB1205 - 89)
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